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QUESTION 1

You areusing SnapLock for SnapVault to protect Snapshot copies on secondary storage. In ONTAP 9.3, which source
aggregate feature is supported in this scenario?

A. SnapLock Enterprise
B. SnapLock Compliance
C. 32 bit

D. RAID-TEC

Correct Answer: D

QUESTION 2

You are monitoring data protection relationships of type XDR using OnCommand System Manager running ONTAP 9.5.
In the GUI, you click Protection -> Volume Relationships.

In this scenario, which status in the Relationship State field must be displayed to ensure that the relationships are
working as expected?

A. SnapMirrored
B. Uninitialized
C. InSync

D. Quiesced

Correct Answer: C

QUESTION 3

A client has a FlexVol volume that is 10 TB in size and is nearly full. The volume has a Snapshot reserve of 5%, that is
currently utilized at 120%. They have chosen to enable ONTAP to automatically delete the oldest Snapshot copies with
a volume threshold trigger in order to free space within the volume when it becomes necessary.

In this scenario, what amount of space would be made available to the client, without additional intervention?

A. 1000 GB

B. 500 GB

C.50 GB

D. 100 GB

Correct Answer: A
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QUESTION 4

Click the Exhibit button.

Machine Storage type
Physical server FC-connected LUNs

iSCSl-connected LUNs
NF5-connected volumes
WVMware ESX RDM LUNs connected by an FC or iSCSI ESXi HBA
iSCSI LUNs connected directly to the guest system by the iSCSI initiator
VDMKs on VMFS or NF5 datastores

NF5S volumes connected directly to the guest system

A customer is interested in using SnapCenter to support Snapshot copies with their Oracle DB. They virtualized their
environment but do not have any block protocols available.

In this solution, which protocol shown in the exhibit is supported?
A. NFS

B. SMB3

C.iscsl

D.FC

Correct Answer: A

QUESTION 5

Click the Exhibit button.
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You have a SnapProtect v11 environment as shown in the exhibit. What are the two defaultSnapshot copies created
automatically after creating a Storage Policy.

(Choose two.)

A. Primary (Tape)
B. Primary (Classic)
C. Primary (NetApp)
D. primary (Snap)

Correct Answer: BD
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